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question no.

Programmable calculators are not allowed. Do not write o m.  avsion pper
margin indicate full marks. The Symbols have their

! Answer any four questions shown below from @) to (0):

(@) Explain, with the help of a neat sketch, an idealized remote sensing system. 10)
(co1-Po1)

(®) Explain various types of data structures used in GIS. (10)
(CO1-PO1)

(©). Define (i Eeliptic ii) Eqinoctial Points (i) Solstces(iv) Celestial Sphere. Draw necessary (10)
sketches. (coi-pol)

@ Exgan how the procedurs of eciprocal Kl liminais the efect of atmaspherc o)

ction and earth’s curvature as well as the nadjusiment of the lne of (COI- FOI)
ol

(€) List five methods of direct distance measurements and describe them in brief.

(10)
(co-Po1)
() Discuss the uses of followi

' instruments in chain and plane table surveying
(i) Peg (i) Ranging Rod (i

10)
Optical square (iv) Alidade (iv) Trough Compass (col-pon
2@ The following consecutive readings were taken with a dumpy level: 3.864, 3.346, 2932, @0
1,952, 0:854, 3.796, 2639 1.542, 1.934, 0.864, 0.665. The level was shifted alerthe ifth (CO2- P02)

and cight readings. The first reading was taken on a benchmark of RL 150250, Calculate

the teduced levels of the change points, and the differnce of level beoween the first and

ﬁz.sckngm Inter.sight Fumlghlﬁ:o]l Reduced Remarks

Llevel
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(20)
(C02- PO2)
Popetivels. The insirument was then set over a station having an RL of 26430 m. th
eight ofthe instument being 1.2 m. The readings on a vertical saff were 1,000, 2 070m,
and 3,140, th telescope being inclined at 8° below the horizonta, Caleulate the R ot 1
point where the stafl was held and is distance from the insrument.

(©) A road is o be made at a constant RL of 45 m runs from north to south, The ground is

(15)
fEvel st 10 west. The ground levelsat th cenre- lne of the proposed foad ae g oprs” (€02-P02)
Chainage(m) | 0 15 0 a 75 90
RL (m; 458 [a65 468 4535 a7 474 (469

The road is §m wide at formaton and the side slopes are 1:1, Determine the volune of
excavation by trapezoidal and prismoidal formula.

(10)
(€02-PO2)

Stations A and B and the top of chimney are in the same vertical plane.

The survey data of a elose traverse s given in the following Table as)
(Co2-PO2)

Find the area of this closed traverse by latitudes and meridian distances.
(@) The apex distance/Extemal distance of a 3° degree circula curve is 8245 m. Determine (10)
the deflection angle, tangent length and length of the long chord (C03-PO2)

(B) A simple circular curve has a radius of 800 m and u deflection angle of 36° . Tabulate the (10)
ordinates from the chord to set out the curve, (CO3- PO2)

(€) A-1% grade mects a +2% grade at station 470 m of clevation 328.605 m. A verteal curve 0
or length 120 m is o be used. The pegs are 0 be fixed a 10 m intrval, Calculte e, (CO3- PO2)
elevations of the points on half of the curve.
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Vo strights on the centre-liné"of a proposed railway curve intersect at 2610 m, the
deecion e bing 46 A St e ot 300 1 s im0
ength ar t0 be inserted. Calculate the necessary data to set out the curve by tangential
angles. Calculate these values for the frst ransition and circular curve only.

Thesele ofa eral phtography i | cv= 100, The photograph sizeis 20 cm X 20 om.
mine th numbet of phologaphs required 0 Gover an aren 10 km X 10 k. i the
longitudinal lap is 60% and the side lap is 30%.

Draw typical contour map and cross-section of the following:
i) Pond (i) Overhanging CIiff i) River

Fromthe ecordsavelae fromsurvey otes s observed tht he kenghsof i
were not readable o ravers
find the lengths of' e

[PQ TR
178, 2284

[RS
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e}
(€03-P02)
a0)
(C04- P02)

10
(CO4-PO2)

20)
(CO4-PO2)



